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EXAMINATION PATTERN AND SYLLABUS FOR THE POST OF JUNIOR OFFICER
BROCHURE FOR INFORMATION

S.No SYLLABUS No .of
questions

Marks

1 Banking- General knowledge of Banking /financial sector. 23

2 English — By and large the topics covered are: English Grammar, Part of | 22
speech, Spotting the error,Sentence Completion , Synonyms, Antonyms, Fill
in the blanks, One word substitution, Sentence arrangement, Sentence
correction, etc

3 General knowledge - General awareness about sports and culture, | 55
current affairs, Basics of computer/IT etc. General knowledge of Economy,
History, Geography, Languages, Science, Civics etc

ST, STeTTSTTe, A=, AT e A e oy

Intelligence Test-simple arithmetical problems. The problems are
mainly on number system, decimal fractions, HCF/LCM, Ratio-
Proportion, Profit & Loss, Averages, Speed-Time & Work, Percentage,
Simple & Compound Interest, Reasoning ability, the questions will be
based on a] Series b] Analogies c] Spotting out the dissimilar d]
Coding/Decoding etc

FELATIT ATAVT — SFITOTATAA T ATHET AR AT, TO0H, AT, 1.4/ 7af, e
STHTOT, ST6T-ATeT, LAY, FTe-HTH-A7T, 9¥e AT, THATE AT, AT TTadT - T HTierhT,
TATTCH TTAT, FR(ThT, Teahimefier faerTd, sfeas-srerteash, Teamar forweriee ¥,

23

23

22

22

23

Total | 90

90

(Time allotted 120 minutes.) ( TH&ATS g 9% 120 AT )

The questions in the test may be asked on all or any of the above syllabus. The medium of

question paper will be English and Marathi.
T T T4 Tht a9 Far Fet foamay F=mer Ao, wera e qredy sl Ail AT o9

All the questions would be objective with multiple choices and having only one correct
answer. Each question will be followed by answer choices which are humbered A, B, C and
D. Select the most appropriate answer. Then using the black ink ball point pen blacken the
circle , in the answer sheet, bearing your choice of correct answer against the serial number
of the question. Please note that the circle should be dark enough and should be filled in
completely.

a9 T TS T A AT=AT STATETST 9317 & oA, =T A,B,C,D 1% FHiF faor g e
AT FFAAT T [HFST. ATHAT FT@BAT ATSHAT AU Tral MaSAedT ITL=AT TIATANA AT IS0
ot e oot 1 AT .

The nature of questions is given for information in the following Samples . wrferaret @t F1Er Fq=T
w7 faer sme.
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1 BANKING SECTION SAMPLE QUESTIONS. ( &1 frsmr wa 7)

1 No complaint to the Banking Ombudsman shall lie unless:-

(A)
(B)
(€)
(D)
(A)
(B)

(€)
(D)

The complainant had made a representation to the bank but had not received any reply
for 2 months.

The complaint is not later than one year after the bank had rejected the representation.
The complaint is not the same subject matter for which any proceedings before any
court is pending

All above are true.

STRT STaTeT T FEeliat THTE FLAT T ATl ST

THRTLETT AT (aae e fEerer g1 aig T a9 Afgear=ar srael 7iq fragr ST el ATer.

e AT ATFRATITEA THE UF a9=A7 74T ATal.

TARTET F0 g7 =TT GeeT S1Ed T T ted ATt

ERERETK:CR

2 What is full form of KYC?

(A)
(B)
(€)
(D)

(A)
(B)
(€)
(D)

3 The
(A)
(B)
(Q)
(D)

(A)
(B)
(€)
(D)

Know Your Customer
Knowledge of Your Customer
Knowing Young Customer
None of These

.31 T AT A BIH AT 2

9T (know) Ta% FEeHT
AIET AT FEEAL.
EREEEIEIRFIF]

regulator of the District Central Coop Banks is :-
Commissioner of Cooperation

R.B.IL.

NABARD

None of these.

Rregt wegadt gg.dwr o Fa=+ ............. T

HTHEHTL ST

GIEIE]

AT Foft AT

2 ENGLISH SECTION SAMPLE QUESTIONS. ( St AT wei= 7))

Given below the four alternatives. Choose the correct word / phrase which is closest
in meaning to the word "BRIBE:"”

(A)
(B)
(€)
(D)

Bargain
Give
Offer
Sheep



Given below are the four alternatives. Choose the one which can be substituted for

sentence:- “ Extreme old age when a man behaves like a fool.”
(A) | Imbecility

(B) | Senility

(C) | Dotage

(D) | Superannuation

Select the word which is most appropriate for the blank space in the sentence given.
My first lesson forgiveness came from my father

(A) | upon

(B) | About

() 'In

(D)  On

Arrange the following given sentences in a proper sequence to form a meaningful paragraph.

1) Miss Kavita arrived at the Shide’s home when Sudha was seven.

2) The deaf and blind Sudha learnt to communicate verbally.

3) But eventually, Miss Kavita’s effort was rewarded.

4) Before Sudha Shide was two years old, she lost her sight and her hearing.
5) Miss Kavita worked closely with Sudha, her new student.

6) At times, the teacher became frustrated.

(A) | 123456
(B) | 415632
(C) | 415326
(D) | 415236

3. GENERAL KNOWLEDGE SECTION SAMPLE QUESTIONS. ( aTom=a= {3 wyi= 1)

8

Population Density means:

(A) | No. of persons living per sq.km

(B) | Ratio of population living below poverty line to total population
(C) | No. of persons living per kilometre

(D) | No. of persons per village

ATFECAHT TAAT TEUMS.....

(A) | =< = fErefe st Rt |amorer Trgara.

(B) | TR YE@TetT TEUIT=AT ATOTE = T Arweaedsfy e

(C) | =% =tzaHiex woft foreft wrorer Trgaa.

(D) | =% Tyt TR wroTe




9 | Which among the following states is a leading industrialized state
(A) | West Bengal
(B) | Orissa
(C) | Madhyapradesh
(D) | Maharashtra
GTAT TehT FI0TT TsF SRR AT 9 g
(A) | afer smer
(B) | srf=
(C) | mearw=er
(D) | weErTy

10 | A collection of related files is called .........
(A) | Database
(B) | Character

(C)  Field
(D) | None
AT A=A TR FLOATAT 1T FZUrETd ?
(A) | =TeTe®
(B) | T

(€) | free
(D) | =T &ehY oAt ATEr

4. INTELLIGENCE TEST SECTION SAMPLE QUESTIONS. (Ftf&#® am=oft fasmr wyi= 73)

11 | 9999 — 999-99-9 = ?
(A) | 8928
(B) 8829
(C) 8892
(D) | 8882

12 | 317x317+283X 283 = ?

(A) | 180578
(B) 180678
(C) 180378

(D) | None of these

The average of 396 + 396 +365 +408 + 384 +412 is ........

13
(A) 398
(B) | 399
(C) | 369
(D) | 389
396 + 396 +365 +408 + 384 +412 gr awsH=T FRHA FT ?
(A) 398
(B) | 399
(C) | 369
(D) | 389



14

15

16

17

18

0.5X0.5X0.5/0.05X0.5=>

(A)
(B)
(€)
(D)

0.5
5
0.25
2.5

Rohit brought 10 Kgs of Tea Powder at the rate of Rs. 12/- per kg., and 15 kg of Tea Powder
at the rate of Rs. 15/- per kg. At what price per kg should he sale the mixture to have
profit of Rs.2/- per kg in the deal?

(A)
(B)
(€)
(D)

(A)
(B)
(€)
(D)

Rs.13/-

Rs.13.80

Rs.15/-

Rs.15.80

AT ¢ o FhaT FgTITa=T ST €.9 2/~ a7 300 Arfor ¢y Foher =rgramae afafrar . ¢u/- ar s+ o
AT, T &2 /- TATRAT THT FHBTATHTET vl ARTATASTUFRT Fieerd TTATheAT HT1T T fAshTa?

Rs.13/-

Rs.13.80

Rs.15/-

Rs.15.80

If the simple interest earned on a sum of money at the end of five years is 20% of the
principal, what is the rate of interest?

(A)
(B)
(€
(D)

(A)
(B)
(€
(D)

4%

6%

2%

Data inadequate

ST FEBATATT Y ATTACNET HETATAL TV AT TEATAT 20 % ( FH 28) STHA T ATSITAT X FH1T 3THA ?
4%

6%

2%

LUESLER S

Find out the wrong number in the series (& wefier Th=ET Fa¥ 9mve)
“7,28, 63,124, 215, 342, 511"

(A)
(B)
(€)
(D)

7
28
124
215

What will come in place of * to complete the series?
(T LIS IO FHLOATHATST  * T ST TATATAT 07T 9763 T2
“ Aku, fpz, * , pzj, ueo, zjt"

(A)
(B)
(€
(D)

Kue
Jtd

Jue
Kve



19 | Spotting out the dissimilar:

(A) | Mango

(B) | Grapes

(C) | Apple

(D) | Brinjal

qrefter &t foer ST

(A) | st&T

(B) | zmer

(C) | Tv==

(D) | =fr

According to English alphabet as BC is related to YX in the same way EF is related to:
( ZUSTr 9TeaTHETE ST BC =T &ayr YX {91 318« % EF =T 8§94 .......... FHA)

(A) | uv

(B) VU

(C) | wWv

(D) | vw

20



